TAKEERH (EEF) OEEFERIZONT

*REFNOMEHEF., 1MDASHEYDERKECIE C-EARERAM+EBBERAMICTHEWN-LET,

ERFERAM (k) 1OMET 2,500
11mM~20mM%ET 100,/ m
. I 21m~50mM%ET 110,/ m
ERRAR B 51m~100mMZET 120/ m
101m~ 130/ m
Y2 AN ERAREERS CEERRI10%AA)
FHEE (M) |[FAH (M) |FRE (m) [FEAF (M)
20mZET 5,500 61.0 10, 240
21.0 5,610 62.0 10, 362
22.0 5,720 63.0 10, 482
23.0 5, 830 64.0 10, 604
24.0 5, 940 65.0 10,724 | 5E&EHI2
25.0 6, 050 66.0 10, 846
26.0 6, 160 67.0 10, 966
27.0 6,270 68.0 11,088
28.0 6, 380 69.0 11, 208
29.0 6, 490 70.0 11, 330
30.0 6, 600 71.0 11, 450
31.0 6, 710 72.0 11,572
32.0 6, 820 73.0 11,692
33.0 6, 930 74.0 11,814 | 5% 413
34.0 7,040 75.0 11,934
35.0 7,150 76.0 12, 056
36.0 7,260 71.0 12,176
37.0 7,370 78.0 12, 298
38.0 7,480 79.0 12,418
39.0 7,590 80.0 12, 540
40.0 7,700 81.0 12, 660
41.0 7,820 82.0 12, 782
42.0 7,942 83.0 12,902
43.0 8,062 84.0 13,024 | EEHI4
44.0 8,184 85.0 13, 144
45.0 8,304 100.0 14, 960
46.0 8,426 120.0 17, 600
47.0 8, 546 140.0 20, 240
48.0 8, 668 160. 0 22,880
49.0 8,788 180.0 25,520
50.0 8,910 200.0 28,160
51.0 9,030 300.0 42, 460
52.0 9,152 400. 0 56, 760
53.0 9,272 600. 0 85, 360
54.0 9, 394 800.0 | 113,960 | EtE&EHIS
55.0 9,514 ] 1,000.0 [ 142, 560
56.0 9,636 | 1,200.0 | 171,160
57.0 9,756 | 1,400.0 [ 199,760
58.0 9,878 | 1,600.0 [ 228,360
59.0 9,998 | 1,800.0 [ 256,960
60.0 10,120 | 2,000.0 | 285, 560

KREHEI2NAA T ETITS 0. #E
KEZIZT ZRENHYET,

BEtEFDKE (2MA5) A
18m+2=9m (1 7ANDKE)
1OMET 2, 500Ax1. 10=2
Hi 2, 750@Ax2A= 5

18

BEEDOKE (2MAH) A, 50
50m=2=25m (145HANDKE)
10mMET
10m~20mM 100Mx10mM=
2 0mid 110Mx5m=

4, 050Mx1. 10=

it 4, 455 x28=

BEEDOKE (2HNMAH) M. 16
160mM=2=80m (145ADKE)

HEIZCH-->TIE,

moiHE

, 750HH

500H

mDEE

2, 500H

1, 0O00H
550M

4, 455M.H

8, 910H

ommnigs

1TOMET 2, 500MH
10m~20mM 100Mx10mM= 1, 000MH
20mM~50m 110MHx30mM= 3, 300H
5 0mi 120MAx30m= 3, 600H
10, 400Mx1. 10= 11, 44088
5t 11, 440MAx28= 22, 880H
REBFOKE (2HAR) A, 300mMDIFE
300mM+-2=150m (145ADKE)
10mMET 2, 500H
10mM~20m 100MAX10mM= 1, O00H
20mM~50m 110Mx30m= 3, 300H
50mM~100mM 120MHx50m= 6, 000M
100miA 130MAx50mM= 6, 500M
19, 300MAx1. 10= 21, 230MH/A
5t 21, 230Mx2A8= 42, 460M

BREEDKE (2MA5) A, 2,000MDIHE

2, o00Om+2=1,

ooom (15 ADKE)

1TOMET 2, 500H
10m~20m 100Mx10mM= 1, 000MH
20m~50m 110Mx30m= 3, 300M
50mM~100m 120Mx50m= 6, 000M
100m# 130MAx900mM= 117, 0O00H

129, 800Mx1. 10= 142, 780M/H
it 142, 780M%x2A= 285, 560H



